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(Part A) zZzw
Economics

Ãy?̧ FounderÆ Input-Output Analysis .1

J R Hicks (B) W. Leontieff (A)

Leon Walrus (D) DS Watson (C)

�äÅ¾äÃÒÅ? Test Ã Validity Å Kinked Demand Curve qgzfsÐ .2

J.M Kanna (B) L.J Stingler (A)

F. Benthan (D) A. Mayer (C)

''ì? Slop of Budget Contraint .3

P2  P3 - P1 (B) P1 + P2 (A)

P1 / P2 (D) P2 - P3 (C)

H? Use �&Ð¬¾ä Concept » Zero Base Budgeting .4

J F Kenhedy (B) Jimmy Carter (A)

G.W. Bush (D) G Bush (C)

å''�Cì? Slope Å Inflationary Presure Curve .5

Upward to Right (B) Downward (A)

Horizontal (D) Straight (C)

Z#¦S�CìA$''? Stagflation .6

Output is Increesing & Inflation is Low (B) Output is Constant (A)

None of the above (D) Output is Falling & Inflation is High (C)

Hì? Exogeness ~qgzfs~ Aggregate Expenditure Model .7

Govt. Spending (B) Saving & Investment (A)

Inputs (D) Taxes (C)
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~Z���@*ìÂ''�Ç? Money Supply �Zzg Fully Flexible ~© Long Run Z¤/ .8

Increase in Price (B) Lower Intrest Rate (A)

Proportional Fall in Price (D) No Effect (C)

WYìZ¤/''? Downward Shift~ Short Run Phillips Curve .9

Inflation Increases (B) Natural Rate Falls (A)

None of the Above (D) Nature Rate Falls (C)

¹YñÇ? Legal Tender ~qgzfsÐ¾Ã Modern Society .10

Cheques (B) Currency Notesþ (A)

Promissory Notes (D) Bills of Exchange (C)

H? Suggest Ã Measure ÆaF Reduction of Inequalityä Karl Marx .11

Equal Income (B) Income According to Needs (A)

None (D) Higher Income to Poor (C)

H�Ï? Cordition Å Equilibrium Æa Monopoly qgzfsÐ .12

MR > MC (B) MR = MC (A)

AR > AC (D) MR < MC (C)

óóÐ�ÛnÃy�ÛZë�@*ì? Soft Window F,¹5+k,�´ÆaLL .13

IBRD (B) IFC (A)

IMF (D) IDA (C)

ÃtÆ_.''? Trickle Down .14

Development spreads down wards through greater demand for Labour (A)

Growth of domestic economy gets influenced by the growth of global economy (B)

None of the above (D) a & b (C)

H�H? Abolish~ 1925 Ã Tax qgzfsÆ¾ .15

Gift Tax (B) Wealth Tax (A)

All of the above (D) Expenditure Tax (C)
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»ZEw�@*ì? Diflature �äÆa¾ Convert~ Constant Price Ã Current Price .16

A price index (B) A value index (A)

None of the above (D) A quality index (C)

�@*ì? Equal qgzfs~¾Æ Fiscal Dificit .17

Other capital receipts (B) Borrowing other than a treasury bills (A)

All of the above (D) Borrowing through 91 days treasury bills (C)

�D�? Measure Ã¾ãC�6, Development Æ_. World Human Development Report .18

Knowledge (B) Longevity (A)

All of the above (D) Income (C)

HYYì? Accept Ã Increase ~Ä Inflation (Æ_. 1977) Chakravarty Committee .19

5 % (B) 4 % (A)

All of the above (D) 8 % (C)

�@*ì? Devided~ PartsÄ Budget yz*ã .20

Performance Budget (ii) Revenue Budget (i)

Zero base Budget (iv) Capital Budget (iii)

i, ii (B) i, ii, iii (A)

All of the above (D) ii, iii, iv (C)

Ã'''6,Îc*Y@*ì? Tobin Tax .21

Imports (B) Sales (A)

All of these (D) Exports (C)

»zå? Plan¾ Self Reliance .22

3rd Plan (B) 4th Plan (A)

8th Plan (D) 6th Plan (C)

~Z���Z? International Liquality Æ�qgzfsä¾ÅzzÐ Worldwar �zu} .23

Convertible Currencies (B) Dollar (A)

None of the above (D) a & b (C)
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¯äÆaqgzfsÐ¾Ã Employment Oriented Ã Export (ä 2004 - 09) Foreign Trade Policy .24

ic*�{F,ß�~?
Handicraft & Handloom (B) Agriculture, Leather & Footwear (A)

All of the abvoe (D) Gems & Jewellery (C)

Ã�áï7H�H? Clause ~qgzfsÐ¾ (2005) SEZ  ACT .25

a & b (B) Production of Raw-Silk (A)

None of the above (D) Production of dairy product (C)

¾Ãë�? Hot Money .26

Currency whose value is likely to fall (A)

Money which has a tendency to fly out of the country (B)

Currency which commands high value in international market (C)

None of the above (D)

�Cì? Govern ¾Æ§i Market Economy .27

A price system (B) Consumer sovereignty (A)

All of the above (D) Forces of demand and supply (C)

�äÅÃÒÅ? Estimate ~̧òWæãÃ¾ä 1868 .28

Dandekar & Rath (B) Dada Bhai Noroji (A)

None (D) Mahalnobis (C)

»¦g¾ä7H? Rolling Plan .29

Jagdish Bhagwati (B) Rostow (A)

None of the above (D) Gunar Myrdal (C)

�Cì''? Currency Zq-Z+ Soft Currency .30

Which can not be used for setting international transactions (A)

Which is available by way of soft loans (B)

None of the above (D) A & B (C)
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7ì? Anti Inflationary Measure qgzfsÐH .31

Rise in Bank Rate (B) Purchase of Seurities in open Market (A)

(D) Rise in cadit Rationiry (C)

»¦g¾ä7H? Reserve Army of Labour .32

Don Pativkin (B) A K Sen (A)

Kaldor (D) Karl Marx (C)

7HYñÇ? Enclude Ã Variable �äÆaqgzfs�Ø�¾ Calculate Ã Composite HDIÆ UN .33

Deprivation Index (B) Life Expectency Index (A)

Educational Attachment Index (D) Adjusted read GDP per capital (C)

Ð',~§b!3�¸ç G�ð'''¶? Partition �yz*yÆ Major Industries �z .34

Sugar & Rubbee (B) Jute & Cotton Textile (A)

Cement & Paper (D) Paper & Iron (C)

C�? Chronological Sequence Ã�ì�ä» Institutions qgzfs�b� .35

IDBI (ii) NABARD (i)

RRBS (iv) IFCI (iii)

iv, i, ii, iii (B) i, iii, ii, iv (A)

iii, ii, iv, i (D) ii, iv, i, iii (C)

Zñ������������������������D�?  Internal & Domestic Price �äÐ Devalue Ã Currency Ë�´Å .36

fall (B) Increase (A)

Remain Unchanged (D) Fluctuate (C)

�áï�@*ì? Basic Balance ~''Zzg Net Liquidity Balance .37

Errors & Omissions (B) Short term private non liquid capital Balance (A)

All of the above (D) Allocation of special drawing rights (C)

H�Ï? Exchange Rate Å¢zg]ìÂ  $ 4.50 Ãy%h+äÆa £ 2 Z¤/ .38

$ 2.25 = £ 1 (B) £ 4.50 = 2 (A)

£ 0.40 = $ 1 (D) £ 0.50 = $ 1 (C)
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�@*ì? Refer ¾Ã Hedging .39

Covering of Foreign Exchange Risk (B) Acceptence of Foreign Exchange Risk (A)

Foreign Exchange Arbitage (D) Foreign Exchange Population (C)

H�u? Automatic Adjustment Machanism Â MPS = 0 Z¤/ .40

Incomplete Adjustment (B) No Adjustment (A)

All of above (D) Complete Adjustment (C)

�äÅãC�~zz'''¶? CollapseÆ Brettan Woods System .41

Confidence Problem (B) Liquidity Problem (A)

None of the above (D) Adjustment Problem (C)

7�C? Assume qgzfsÐ¾Ã¬xîg6, Classical Investment Theory .42

Imperfect Copetion (B) Perfect Competetion (A)

None of the above (D) A Living wage (C)

Simple ~ Economy A$ Population Growth = 1% CK /0 = 4 Zzg Saving Rate = 10.1 Z¤/Ë�`~ .43

H�Ï? Rate of Growth

5 % (B) 4 % (A)

2.5 % (D) 1 % (C)

¾ãC�6,ic*�{izg�ï�? Schumpeter~ Theory of Development .44

Innovation (B) Balanced Growth (A)

Exploitation of Indigemens People (D) Unbalacned Growth (C)

�c*? Formula ÃKÆaH MachanismÆ Economic Developmentä MM Singer .45

S = DP - r (B) D = SP - r (A)

R = DS - P (D) P = DS - r (C)

¯c*? Popular Ã¾ä Technique Å Input Output Analysis .46

Samuelson (B) Nurkse (A)

Lange (D) Leontief (C)
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(YNÐXZ# Increase (,|) Price Æ Commodity Îc*Y@*ìÂZk ad valorem tax 6,Commodity Z¤/Ë .47

''�ÏX elasticity of demend ZkÅ
Infinite (B) Zero (A)

> 1 (D) Unity (C)

Ð¾ä�hZ? Evolution of Credit Ã Economic Development .48

Bucher (B) Middle Brand (A)

Nurkse (D) Bocke (C)

�D�ÂZkÃëZq-''}Ð? MoveÆ Direction Zq-� Factor Quantity Zzg Factor Price Z¤/ .49

Increasing Cost Industry (B) Constant Cost Industry (A)

Non of the Above (D) A Decreasing Cost Industry (C)

6,�Ç? Point¾ Best level of Output Æa Pure Monopolist .50

TR = STC (B) STC is Minimum (A)

TR & STC and paraller (D) TR is Maximum (C)

(Part A) z�zx
Research Methodology

C�? Value Å Median~ Series qgzfs�~� .51

71.5 (B) 71 (A)

72.5 (D) 72 (C)

¹YñÇ? Monitoring Study qgzfs~¾Ã .52

Email (B) Counting Cars Area Parking Lot (A)

None (D) Mall intercept Interview (C)
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'''ì? Internal Reliability .53

About the consistency of measure taken at two different points in time (A)

About how a single individual's score remain identical (B)

About the increase or decrease in scores over time (C)

None of the above (D)

7�,Ð? Expect �b High test - Retest reliability Ã Characteristic qgzfsÐW\¾ .54

Attention (B) Intelligence (A)

Dyslexia (D) Religious brief (C)

? �������������óó Internal Reliability qgzfsÒyå�,XLLZ¤/4 .55

The lower the maximum correlation of that test with any other variable (A)

Higher correlation between that measure and other variables (B)

A & B (C)

None of these (D)

ÃH¹Y@*ì? Correlating Æ�gxy Versions ÆZ TestË .56

Split half reliability (B) Alternate forms reliability (A)

None of the above (D) Objectivity (C)

Zzg�ç5]~Z Test �äÆZ§hV»ZEw�D�ño]ÆZfgZùÔZ Collect Z°Z�zÑg .57

ÃH¹Y@*ì? Interviewers

Reliability (B) Transferability (A)

Triangulation (D) Convergent validity (C)

�t�ä Further HYñT~Ð Structure ~ Categories ÃZ Data '''»ãC�~Ñtì� .58

~W�ã�Yñ?
Coding (B) Pilot Study (A)

Quasionaire (D) Statistical Analysis (C)

''�@*ì? Variable~ Corss sectional design Zq- .59

Score data (B) Nominal data (A)

None (D) Frequencies (C)
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Ã¹YYì? Effect of controlling Æa Third variable .60

To decrease correction (B) To increase correction (A)

All of these (D) To change the sign of correlation (C)

Hì? Generic Term Åz�s#Æa�&Ðic*�{¬x Observational Studies Zzg Correlational Survey .61

Non experiment (B) Non Maniputional (A)

None (D) Non randomised (C)

Ã�áïHY@*ì? Elements ~Á Pooled Data .62

Cross section data (B) Time series data (A)

None of the above (D) A & B (C)

»§i¾ä�c*? Method of OLS .63

Milton Friedman (B) Care Fridrich Caurs (A)

Englewood Cliff (D) Watron (C)

01   02   03   04   X    05   06   07   08 .64

7�@*ì? Example ¾» design Zz6,�c*�H
Carrelation (B) Regression (A)

A & B (D) Time Series (C)

7ì? Probability sample plan qgzfsÐ .65

Convience sampling (B) Systematic sampling (A)

All of the above (D) Stratified sample (C)

�êì? Measure » Consistency of data qgzfs~ .66

Median (B) Mean (A)

Standard deviation (D) Mode (C)

Hì? Full Form » IPR .67

Intelligent Property Right (B) Intellectual Property Right (A)

None of the above (D) Intellectual Property Rotation (C)

10

PhD (Economics)/E.T/May 2019



ÃZYi]ì? Researcher �äÆ�H Collect Ã Data (Ð Respondents �Z[�yÇy) .68

To sell data to any one (B) To disclose data to any one (A)

A & B (C)

Not to disclose data to any one without the permission of respondents (D)

ZEw�,Ð? As a reference style Æa Research Paper qgzfsÐ¾ÃW\ZL .69

African Psycological Association (B) American Psycological Association (A)

None of the above (D) A & B (C)

Hì? e-journal data base qgzfsÐ .70

LOTUS (B) SCOPUS (A)

All of the Aboe (D) DBASE (C)

Æaqgzfs].zwÃ7,Û ÎZÑ] 4 Z�
ZzgywWæã Consumption ].zwDWõ�*»

Sl.

No.

Leads Low Consumption High Consumption Total

1

2

3

Low income

Middle income

High income

30

20

12

10

20

28

40

40

40

Total 62 58 120

Zz6,�~�].zw'''BCì? .71

One way tebulation (B) Cross tabulation (A)

None of the above (D) A & B (C)

Á0*c*�H? Consumption »Wõ�*» Households Zk].zwÆ_.Ä .72

51.67 (B) 50.98 (A)

49.38 (D) 54.54 (C)
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Ðmgnp�? Middle Income ÃW\B� HouseholdsÄ .73

28 (B) 30 (A)

None of the above (D) 40 (C)

(ì? High ic*�{) Consumption »Wõ�*» Middle Income HouseholdsÄ .74

30 (B) 20 (A)

12 (D) 28 (C)

Ã7,# Data Z�&ÎZßVÆaqgzfs
qgzfs�Ø��? MarksÆ 10 Students~ Exam Zq-

40,   60,   50,   55,   45,   70,   60,   55,   75,   80

Hì? Average Score » Students .75

65 (B) 55 (A)

60 (D) 59 (C)

Hì? Median » Distribution of Mrks .76

57.5 (B) 55 (A)

60 (D) 58.5 (C)

Hì? Range » Marks Distribution .77

18 (B) 40 (A)

30 (D) 20 (C)

''ì? Y  =  b0  +  b1  X1  +  b2  X2  +  Uª Regression Model .78

Y is a predicter variable (B) X1 X2 are independent variables (A)

None of the above (D) b0 is a predicter variables (C)

ÃgÄMh�? Components ÆZ Process Æfg=ëËÌ _________ .79

Pie Cart (B) Flow Chart (A)

All of the above (D) Histogram (C)
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B@*ì? _________ �,Âz{ Select Ã Response ~Z¤/ëZq-Ðic*�{ Multiple Choice Question .80

Likert Scale Question (B) Dichotomos Question (A)

None of the above (D) Ambiguas Question (C)

ì? ______ Ø�|I .81

Reservoire of ICSSR (B) Reservoire of UGC (A)

Reservoire of Indian thesis (D) Reservoire of World Research (C)

¾ÆaZEw�@*ì? w.w.w .82

World Wibe Web (B) World Web Wonders (A)

World Wide Web (D) Web World Wibe (C)

!*]�@*ì? One to One 6,Topic ËÌ InterviewerÐ Respondent TÆfg=Zq- Technique {z .83

Discussion (B) Focus group (A)

Indepth Interview (D) Protection Interview (C)

��������������������CìX Qualitative Research .84

Subjective in Nature (B) Objective in Nature (A)

None (D) A & B (C)

LLÓ#Öyä¾"$�zg�äÆn¹Zi6,z¤/ZxÃ`c*?);V&7(óót¾n»ÎZwì? .85

Loaded Question (B) Leading Question (A)

None of the above (D) Open Ended (C)

Æ7�**'''BCì? Value Judgement Zzg Bias Ã¯Ë Condition .86

Subjective Research (B) Objective Research (A)

None of the above (D) Value Research (C)

�**ZzgW~Y,̂{7�**'''Æfg=�@*ì? Analyse Ã Facts .87

Reserve (B) Action Research (A)

All of the Above (D) Analytical Research (C)
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~æ��@*ì? Social Science Plannig _______ .88

Experience Survey (B) Social Science Research (A)

Diagnostic Study (D) Problem Formulation (C)

Hì? Drawback Æa�&Ð(,Z Research yz*y~ .89

Lack of sufficient research guides (B) Lack of sufficient number of Universities (A)

Lack of scientific training in research (D) Lack of sufficient fun (C)

Å¢zg]�CìHB@*ì? Solution Zq-ÎZwT� .90

Problem (B) Observation (A)

Experiment (D) Data (C)

ËÎZwÃîCX¯**HB@*ì? .91

Examination (B) Solution (A)

Problem Solving (D) Problem Formulation (C)

�Dz�ÜX���������������������������ìZÐ71YñÇ? Select ËXÃ .92

Overdone (B) Very Common (A)

Rare (D) Easy One (C)

'''ì? Step ~ª Problem Formulation .93

Gathering of data (B) Statement of the problem (A)

None of the above (D) Measurment (C)

7�~Y$Ë? Operational definition TÃ Concept .94

Oral (B) Verbal (A)

Operational (D) Hypothetical (C)

�@*ì? Tentative Proposition Subjcet to Test Zq- .95

Hypothesis (B) Variable (A)

Concept (D) Data (C)
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HY@*ì? Drive Ã''''' Statistical Hypothesis .96

Data (B) Frame (A)

Facts (D) Sample (C)

ÆaHz�Ü�c*YñÇ? Preliminary Work &�!ó6,z¤/Zx~ .97

50 % (B) 20 % (A)

25 % (D) 17 % (C)

ÆaW\Hz�ÜBÐ? Data Collection .98

25 % (B) 50 % (A)

33 % (D) 75 % (C)

H�Ï? Range ìÂ Largest Score = 83 Zzg Smallest Score = 26 Z¤/ .99

57 (B) 3.19 (A)

None of the above (D) 0.31 (C)

}Ð? Index Measure of Systematic Risk ~Ð¾ÃW\ Items qgzfs~�Ø� .100

Co-efficient of variation (B) Beta (A)

Variance (D) Standard Deviation (C)

///
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